BJ610~611 Ei5:5 4
RaHS]sus) IMAO
M M
S
/B 1 V1
‘ ‘ H L
B3l NS
S45C
-06 -08 | EEAEK
- ME k= kA8
€13 D) (D [BJ610]-10 [BJ610]-12
16 -
-
[ BJ610-SUS | SUS304
[BJ610 | [ BJ10-SUS |

ek 5 R RE
w = gg = M H| L |Lf| W (@
BJ610-06020 |BJ610-06020-SUS 20 13
BJ610-06025 |BJ610-06025-SUS| M 6X1 25| 10 | 12 | 10 17
BJ610-06032 |BJ610-06032-SUS 32 20
BJ610-08025 — 25 25
BJ610-08032 — M 8X1.25 32| 13 |16 | 13 35
BJ610-08040 - 40 45
— BJ610-08025-SUS 25 32
— BJ610-08032-SUS | M 8X1.25 3213 | 16 | 14 40
— BJ610-08040-SUS 40 50
BJ610-10032 |BJ610-10032-SUS 32 60
BJ610-10050 |BJ610-10050-SUS| M10X1.5 50 | 16 | 20 | 17 95
BJ610-10075 |BJ610-10075-SUS 75 145
BJ610-12032 |BJ610-12032-SUS 32 95
BJ610-12050 |BJ610-12050-SUS| M12X1.75 50| 18 | 20 | 22 | 165
BJ610-12075 |BJ610-12075-SUS 75 250
BJ610-16032 — 32 20 150
BJ610-16050 — M16X2 50 | 25 30 27 | 250
BJ610-16075 - 75 370
BJ610-20050 - 50 30 290
BJ610-20075 — M20X2.5 75| 30 40 30 | 430
BJ610-20100 — 100 580




BJ611

RE
1) =]
atl = M H L Lf w ()
BJ611-16032 32 20 155
BJ611-16050 M16x2 50 30 30 27 255
BJ611-16075 75 375
+F =
BEATEKIERNKE.
&£ A~ 5 R AE R 75 5%
I




